#### **Complete Line of Oral and ENFit® Syringes**

Ensure safe and efficient delivery of medications, nutrients and liquids





# **Oral Syringes**

### Designed for easy, accurate delivery of oral liquid medication

- Self-righting caps for easier one-handed capping
- Milliliter graduations only per ISMP recommendations for more precise measurements
- "Oral use only" labelling and white plunger rod provide clear differentiation from IV syringes
- .81mm slip tip is designed for easier dispensing applications and will not accept hypodermic needles
- Low-dose tip reservoir reduces residual content and ensures maximum delivery of medication
- All oral tips centered (except 60 mL—off-centered)

#### **Oral Slip Tip with Cap**



Oral Silp Tip with Cap										
Item No.	Description	Size	Color	Сар	Pkg.	Qty.				
NON65001	Oral Syringe, Non-Sterile	1 mL	Clear	Included, Bags of 25	20 Bags of 25	500/cs				
NON65003	Oral Syringe, Non-Sterile	3 mL	Clear	Included, Bags of 25	20 Bags of 25	500/cs				
NON65006	Oral Syringe, Non-Sterile	6 mL	Clear	Included, Bags of 25	20 Bags of 25	500/cs				
NON65012	Oral Syringe, Non-Sterile	12 mL	Clear	Included, Bags of 25	20 Bags of 25	500/cs				
NON65020	Oral Syringe, Non-Sterile	20 mL	Clear	Included, Bags of 25	8 Bags of 25	200/cs				
NON65035	Oral Syringe, Non-Sterile	35 mL	Clear	Included, Bags of 25	8 Bags of 25	200/cs				
NON65060	Oral Syringe, Non-Sterile	60 mL	Clear	Included, Bags of 25	8 Bags of 25	200/cs				
NON65101	Oral Syringe, Sterile	1 mL	Clear	Included, Attached	Individual Pouch	200/cs				
NON65103	Oral Syringe, Sterile	3 mL	Clear	Included, Attached	Individual Pouch	100/cs				
NON65106	Oral Syringe, Sterile	6 mL	Clear	Included, Attached	Individual Pouch	100/cs				
NON65112	Oral Syringe, Sterile	12 mL	Clear	Included, Attached	Individual Pouch	100/cs				
NON65120	Oral Syringe, Sterile	20 mL	Clear	Included, Attached	Individual Pouch	100/cs				
NON65135	Oral Syringe, Sterile	35 mL	Clear	Included, Attached	Individual Pouch	100/cs				
NON65160	Oral Syringe, Sterile	60 mL	Clear	Included, Attached	Individual Pouch	100/cs				
NON65201	Oral Syringe, Non-Sterile	1 mL	Amber	Included, Attached	20 bags of 25	500/cs				
NON65203	Oral Syringe, Non-Sterile	3 mL	Amber	Included, Attached	20 bags of 25	500/cs				
NON65206	Oral Syringe, Non-Sterile	6 mL	Amber	Included, Attached	20 bags of 25	500/cs				
NON65212	Oral Syringe, Non-Sterile	12 mL	Amber	Included, Attached	20 bags of 25	500/cs				
NON65120	Oral Syringe, Non-Sterile	20 mL	Amber	Included, Attached	8 bags of 25	200/cs				

## **ENFit<sup>®</sup> Syringes**

### Reduce risk of enteral tube feeding misconnections and helps improve patient safety

- Low Dose Tip (LDT) reduces dead space, ensuring delivery accuracy for small doses
- LDT adds an internal male lumen to the standard ENFit female syringe. This mimics the functionality of traditional male oral/enteral syringe designs
- ENFit self-righting tip caps make filling process easier and reduce repetitive strain
- Available with amber barrel with white plunger to provide protection for light-sensitive drugs



# A safer connection

The ENFit® connector reduces the risk of tube feeding misconnections, helping enhance patient safety. It has a unique enteral-specific design that:

- Doesn't allow administration sets, gastrostomy tubes and syringes to connect with any other connector for other non-enteral clinical uses
- Has a locking feature that secures the connection

#### **ENFit Tip** Centered ENFit Tip; LDT on 1 and 3 mL

Item No.	Description	Size	Color	Сар	Pkg.	Qty.
NON66101	ENFit Enteral, Sterile	1 mL	Clear	Included, Not Attached	Individual Pouch	200/cs
NON66103	ENFit Enteral, Sterile	3 mL	Clear	Included, Not Attached	Individual Pouch	100/cs
NON66106	ENFit Enteral, Sterile	6 mL	Clear	Included, Not Attached	Individual Pouch	100/cs
NON66112	ENFit Enteral, Sterile	12 mL	Clear	Included, Not Attached	Individual Pouch	100/cs
NON66120	ENFit Enteral, Sterile	20 mL	Clear	Included, Not Attached	Individual Pouch	100/cs
NON66135	ENFit Enteral, Sterile	35 mL	Clear	Included, Not Attached	Individual Pouch	100/cs
NON66160	ENFit Enteral, Sterile	60 mL	Clear	Included, Not Attached	Individual Pouch	50/cs
NON66035	ENFit Pharmacy, Non-Sterile	35 mL	Clear	Included, Bags of 25	8 Bags of 25	200/cs
NON66060	ENFit Pharmacy, Non-Sterile	60 mL	Clear	Included, Bags of 25	8 Bags of 25	200/cs
NON66201	ENFit Pharmacy, Non-Sterile	1 mL	Amber	Included, Bags of 25	20 Bags of 25	500/cs
NON66203	ENFit Pharmacy, Non-Sterile	3 mL	Amber	Included, Bags of 25	20 Bags of 25	500/cs
NON66206	ENFit Pharmacy, Non-Sterile	6 mL	Amber	Included, Bags of 25	20 Bags of 25	500/cs
NON66212	ENFit Pharmacy, Non-Sterile	12 mL	Amber	Included, Bags of 25	20 Bags of 25	500/cs
NON66220	ENFit Pharmacy, Non-Sterile	20 mL	Amber	Included, Bags of 25	8 Bags of 25	200/cs
NON66235	ENFit Pharmacy, Non-Sterile	35 mL	Amber	Included, Bags of 25	8 Bags of 25	200/cs
NON66260	ENFit Pharmacy, Non-Sterile	60 mL	Amber	Included, Bags of 25	8 Bags of 25	200/cs

### Manage Medications Safer and Easier.

We offer a variety of easy-to-use medication management devices to help pharmacists, nurses and patients, including:



**Medicine Straw** GBUMSISO-50

OTC3204

**Ensure safe medication delivery.** Ask your Medline Representative to show you our complete offering of medication management devices, enteral feeding supplies and pharmacy supplies.



Medline Industries, Inc. Three Lakes Drive, Northfield, IL 60093 Medline United States 1-800-MEDLINE (633-5463) medline.com | info@medline.com 
 Medline Canada
 Follow us
 Full

 1-800-396-6996 | medline.ca | canada@medline.com

 Medline México

 01-800-831-0898 | medlinemexico.com | mexico@medline.com

© 2020 Medline Industries, Inc. All rights reserved. Medline is a registered trademark of Medline Industries, Inc. ENFit is a registered trademark of GEDSA, used with permission. MKT19W749797 / LIT555R / 26

#### Follow us fin y BLOG